PGT POL. SCIENCE

1. Who launched the 90-day campaign 'Azadi Se Antyodaya Tak'?
(A) Amit Shah

(B) Piyush Goyal

(C) Kiren Rijiju

(D) Giriraj Singh

Correct Answer: (D)

2. Which country signed agreements on training staff and IT cooperation to deepen railway
cooperation In Sep 20227

(A) Russia-India

(B) Ukraine-Turkey

(C) India-Bangladesh

(D) America-India

Correct Answer: (C)

3. The “Donbas War” is currently being fought in
(A) Serbia

(B) Ukraine

(C) Syria

(D) Lebanon

Correct Answer: (B)

4. Pedagogy is the study of
(A) education

(B) learning process

(C) teaching methods

(D) guiding students

Correct Answer: (C)



5. Dyslexia is associated with
(A) mental disorder

(B) mathematical disorder
(C) reading disorder

(D) behavioural disorder
Correct Answer: (C)

6. Which government organizations will develop guidelines for the education of gifted
children?

(A) NCERT and NCFCS

(B) NCERT and NCTE

(C) NCERT and NTA

(D) NCERT and SCERT

Correct Answer: (B)

7. Assertion: The Constitution vests the executive powers of the Union in the president
of India.
Reason: The President of India is the Constitutional head of the State.

(A). Both Assertion and Reason are correct and Reason is the correct explanation for
Assertion.

(B). Both Assertion and Reason are correct but Reason is not the correct explanation for
Assertion

(C). Assertion is correct but Reason is incorrect

(D). Both Assertion and Reason are incorrect.

Correct Answer: B.

8. (A) Sarkaria commission recommended that consultation between the centre and chief
ministers on important appointments be certainly made.

(R)This could be achieved through amending Article 165 of the Indian constitution.
(A) Both A and R are individually true and R is the correct explanation of A

(B) Both A and R are individually true but R is not the correct explanation of A

(C) Ais true but R is false

(D) Ais false but R is true

Correct Answer: (C)



9. Match the following

1) Mikhail Gorbachev a) successor of USSR

2) Shock therapy b) Military pact

3) Russia c) introduced reforms

4) Boris Yeltsin d) economic model

5) Warsaw e) president of Russia
Options:

(A)1-b,2-a,3-c,4-d,5-e
(B) 1-a,2-d,3-e,4-b,5-c
(C) 1-d,2-¢,3-b,4-e,5-a
(D) 1-c,2-d-3-a,4-e,5-b

Correct Answer: (D)

10. Match the following:

Column A Column B
1 | Head of the commission of enquiry a | Chaudhary Charan Singh
2 | Deputy prime minister of India from b | Jagjivan Ram
1967 to 1969
3 | Deputy prime minister of India from ¢ |J.C.Shah
1977 to 1979
4 | Union minister of India from 1952-1977 | d | Morarji Desai

Option:

(A)1-b,2-a,3-d,4-c
(B) 1-d,2-b,3-c,4-d
(C) 1-a,2-¢,3-b,4-d
(D)1-c,2-d,3-a,4-b

Correct Answer: (D)

11.  Political theory has its roots in the twin aspects of the human self which are:
(1) Possession of reason

(2) Ability to use language & communicate

(3) Ability to reflection on their action

Select the correct options from below

(A)land 2

(B)1,and 3

(C) 2and 3

(D) 1,2and 3

Correct Answer: D



12. Identify the wrongly matched:

(A) Dr. B. R. Ambedkar — Chairman of Drafting Committee
(B) Maulana Abul Kalam Azad — First Education Minister
(C) Sardar Vallabhbhai Patel — First Finance Minister

(D) Dr. Rajendra Prasad — First President of India

Correct Answer: (C)

13.  Which of the following statements regarding Fundamental Duties is/are found to be
correct?

I: There is no provision in the constitution for direct enforcement of any of the fundamental
duties.

I1: The court may only serve a warning to reckless citizen against anti-social activities such as
burning the constitution, destroying public property, etc.

(A) Both are correct
(B) Both are incorrect
(C) Only 1

(D) Only 11

Correct Answer: (A)

14. Under the Indian Political System a non-citizen can be appointed as of
India.

I: Prime Minister

I1: Chief Minister

(A) Only 1

(B) Only 11
(C)Both Iand 11
(D) None of these

Answer : (D)



15.  Assertion: In April 1949, North Atlantic Treaty Organisation was an association of 12
states which declared that armed attack on any one of them in Europe or North America would
be regarded as an attack on all of them.

Reason: Each state would be obliged to help the other.

(A) Both the Assertion and the Reason are correct and the Reason is the correct explanation of
the Assertion.

(B) Both the Assertion and the Reason are correct but the Reason is not the correct explanation
of the Assertion.

(C) The Assertion is incorrect but the Reason is correct.
(D) The Assertion is correct but the Reason is incorrect.

Correct Answer: (A)

16.  The goal and objective of Feminismis___ ?
(A) To show that women are superior

(B) To empower women

(C) To exploit women

(D) None of the above

Correct Answer: (C)

17. In which country ‘Apartheid’ prevailed?
(A) Britain

(B) India

(C) South Africa

(D) France

Correct Answer: (C)



18.  Who argued that the root cause of entrenched inequality was private ownership
of important economic resources?

(A) J Rousseau
(B) Karl Marx
(C) M Gandhi
(D) Adam Smith

Answer given by moderator: (B)

19. Is the father of Political Science.
(A) Laski

(B) Marx

(C) Bentham

(D) Aristotle

Correct Answer: (D)

CASE STUDY BASED QUESTIONS:
Read the passage given below carefully and answer the questions that follow:

Though freedom is guaranteed in our Constitution, we encounter new interpretations all the
time. This is a bit like playing a game; as we play chess or cricket, we learn how to interpret
the rules. In the process, we discover new and broader meanings of the game itself. Similarly,
the fundamental rights guaranteed by our Constitution are continually being reinterpreted in
response to new circumstances. For instance, the right to life has been interpreted by the
Courts to include the right to livelihood. The right to information has been granted through a
new law. Societies frequently encounter new challenges which generate new interpretations.
The fundamental rights guaranteed by our Constitution have been amended and expanded
over time through judicial interpretations and government policies which are designed to
address new problems.

20. has been interpreted to include right to livelihood

(A)Right to Life

(B) Right to Survival
(C)Right to Live
(D) All of the above

Correct Answer: (A)



